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QUESTION 1

You configure one OTBI using Project Cross Subject Area Analysis Real Time. You notice that all measures (Budget,
Forecast, Cost, Commitments, Revenue, and Invoice) are not available for Bill-To-Customer and Contract and Contract
Line dimensions.

Identify the reason for this behavior.

A. The Bill-To-Customer dimension applies to Invoice measures, and the Contract and Contract Line dimensions apply
to Revenue and Invoice measures.

B. The Bill-To-Customer dimension does not apply to Invoice measures, but the Contract and Contract Line dimensions
apply only to Revenue and Invoice measures.

C. The Bill-To-Customer dimension applies only to Invoice measures, but the Contract and Contract Line dimensions do
not apply to Revenue and Invoice measures.

D. The Contract and Contract Line dimensions apply only to Invoice measures.
E. The Bill-To-Customer dimension applies only to Revenue and Invoice measures.

Correct Answer: E

QUESTION 2

Your customer started operations and all projects in January 2015. They implemented Enterprise Project Structure for
calculating project labor demand by using the Annual option. When they view the labor demand on 15-Dec-2015, the
project hierarchy viewer shows data only for the year 2015. The client expected the demand to be shown for a year,
from 15-Dec-2015 to 15-Dec-2016.

Identify how the project hierarchy viewer displays labor demand information.

A. The project start date of Jan-2015 was used for calculating labor demand, and hence it calculated the demand for the
year 2015.

B. The date entered by a user as a parameter when running the Update EPS job was set to 01-Jan-2015, and hence the
calculations show results for the year 2015.

C. The current period start date is used for calculating labor demand for the current year.
D. The current date is used for calculating labor demand for the current year.

Correct Answer: B

QUESTION 3

You want to export your project plan to Oracle Project Financial Management Cloud after initial scheduling is complete
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in Microsoft Projects. Identify three conditions that must be met for exporting milestone tasks.
A. only one labor resource assignment with 0 effort

B. lowest-level tasks set up with zero duration

C. lowest-level tasks set up with non-zero duration

D. percent work complete values of 0 or 100 percent

E. only one labor resource assignment with 100 effort

Correct Answer: ABD

Reference: https://docs.oracle.com/cloud/latest/projectcs_gs/OAPEX/OAPEX1082602.htm#OAPEX2161139

QUESTION 4

You have defined two expenditure types but they are not available for selection when you enter an expenditure batch.
Identify the reason for this problem.

A. The two expenditure types are not assigned to the reference data set that is assigned to the project-owning
organization in which the transaction is performed.

B. The two expenditure types are not assigned to the reference data set that is assigned to the business unit in which
the transaction is performed.

C. The two expenditure types are not assigned to the reference data set that is assigned to the project unit in which the
transaction is performed.

D. The two expenditure types are not assigned to the reference data set that is assigned to the project expenditure
organization in which the transaction is performed.

Correct Answer: D

QUESTION 5
Which two statements describe how the Resource Qualification Score is calculated?

A. An individual\\'s score is 100% if the resource request has a qualification, but no proficiency is specified and the
resource has the qualification.

B. An individual\\'s score is 100% if the resource request has a qualification with a specified proficiency and the
resource has the qualification that meets the specified proficiency.

C. An individual\\'s score is 100% if the resource request has a qualification with a specified proficiency and the
resource does not have the qualification.

D. Anindividual\\'s score is 100% if the resource request has a qualification with a specified proficiency and the
resource has the qualification with a proficiency that is lower or higher than specified.
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Correct Answer: BD
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